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Cunpywd  dwutwlyghu
wnwowplwé Jwutwlhg:

npnabipnt

Yhpwnyqwd

swithwuhy'

ujwquagnyu  ght

Quithwpwdhtu 2: Fudwu wnwplw £ hwunhuwunid gwpwpwywgh denppbpnidp.

<pwybpp <pwytiph Uuhwdwuww-
wwhwugubiphu wwhwugubipht | nwufuwuniejwu
<h Vwutiwhgh wlyjwtinuip hwlwwwuwu- | shwdwwywwnwu- hwdumnu:
fuwunn hwjwbp | fuwunn hwjnbp | tjwpwgpnyejniu
1 U/ dwutuw Ubkpnujw X
Uwutuwlygh
Uwutwyhgubiph Cunpywsd wnwgwnuwg ghu
gpwnbgpwd Uwutwlygh wuyjwunwdp Jwutwlhg (wnwig UUZ, hug.
inbintinp
npwd)
1 U/Q dwutuw UbGpnujwt X 100,0
Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght

wnwowplwé Jwutiwyhg:

Quithwpwdhtu 3: Fudwu wnwpyw § hwunhuwunw Yuwpwah dGnppbipnudp.
<pwybiph <pwybipp Uuhwdwuww-
whwugubphu whwuoubipht | nwufuwunyejwu
< Uwubwlgh wiijwtnudp Pl:{wdwu{am[ljhu— ;jwdwmimrru— hurJuLIu.mn[lz;J
fuwunn hwjwnbp fjuwtnn hwyinbp | uupwagpnientu
1 UW/Q dwutw Ubkpnujw X
Uwutw
Uwutwlhgutiph Cunpqwd wnwgwpuuljgr:}h'u
gqpwnbgpwd Uwutwlygh wuyjwunidp Jwutwlhg (wnwibg UUZ, huwg.
wtinbinp
npwd)
1 UW/a dwutw Ubjpnujwt X 344,167
Cunpwd  dwutwlght  npnobint Yphpwndwd  swihwuhy'  ujuqugnyu  ghu

wnwowpywé Jwutwyhg:

Quithwpwdhtu 4: Fudwu wnwplw £ hwunhuwund wplwdwnyh dbeh dGnppbpnudp.

<pwybpp <pwytiph Utuhwdwuww-
wwhwugubiphu wwhwugubipht | nwufuwuniejwu
</h Vwutiwygh wjwiinudp hwdwywuwwu- | shwdwwwunwu- hludumnuf
fuwunn hwjwbp | fuwunn hwjnbp | bfwpwgpnygjniu
1 W/ dwutw Ubkjpnujwt X
Uwutuwlygh
Uwutwyhgubiph Cunpywsd wnwgwnhwg ghu
gpwnbgpwd Uwutwlygh wuyjwunwdp Jwutwlhg (wnwbg UUZ, hug,
inbintinp
npwd)
1 U/Q dwutw Ubkpnujw X 33,3
Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuh)'  ujuqugnyu  ght

wnwowplwé Jwutiwlyhg:

Quithwpwdhtu 5: Fudwu wnwpyuw § hwunhuwund Yupunndhih dGnppbpnudp.

<pwybpp <pwybpp Uuhwdwuww-
wwhwueubiphu wwhwugubipht | wwufuwuntpjwu
<h Vwutiwhgh wjwtinudp hwlwwwuwu- | shwdwwywwnwu- hwdwnnwn
fuwunn hwjnbp | juwunn hwjnbp | bwpwgpnieiniu




[ 1 [ W2 dwbw Ubjpnuyut | X | | |

Uwutwlgh
Uwuiwghgl‘:gﬂh Uwutwygh wudwunwd Cuunpywd wnwswnyws gt
qpungn g o dwutwyhg (wnwug UUL, hwg.
ntintinp
npwd)
1 U/Q dwutw Ubkpnujwt X 150,0

Cunpywd  Jwuuwlght  npngbint Yppwndwd  swipwupy'  uduqugnyu  ght
wnwowplwé Jwutwlhg:

Qwihwpwdhu 6: Fudwt wnwplw § hwunhuwund dwwpnuh dGnppbpnudp.
<pwybpp <pwytpp Uuhwdwww-
wwhwueubiphu wwhwueubiphi | wwufuwuniejwu
<h Vwutiwligh wbduitnuip hwlwwwuwu- | shwdwwywwnwu- hwdumnuf
fuwunn hwynbp | fuwunn hwjnbp | twpwgpnieiniu
1 U/ dwutw Ubkpnujw X
Uwutwlygp
Uwutwlhgutiph Cunpqwd wnwgwnuwg ghu
qpwnbgpwd Uwutwlygh wudjwunwdp Jwutwlhg (wnwibig UUZ, huwg.
wtintinp
npwd)
1 U/ dwutw Ubkpnujwt X 75,0

Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght
wnwowplwé Jwutiwyhg:

Quithwpwdhtu 7: Fudwu wnwplw £ hwunhuwund pphudh dtnppbpnidp.

<pwybpp <pwytiph Uuhwdwuww-
wwhwugubiphu wwhweubiphi | wmwufuwuniejwu
</h Vwutiwygh wjwiinudp hwdwywuwwu- | shwdwwwwnwu- hwdwnnun
fuwunn hwjwnbp fjuwunn hwjuinbp | uwpwagpnyentu
1 UW/Q dwutw Ubkpnujwi X
Uwutwlgh
Uwuiwghgignh Uwutwygh wudwunwd Cuunpywd wnwswnluws gt
qpungn g o dwutwlhg (wnwug UUL, hwgq.
wtintinp
npwd)
1 U/Q dwutw Ubkpnujw X 108,3

Cunpwd  dwutwlght  npnobint Yphpwndwd  swhwuhy'  ujuqugnyu  ghu
wnwowpywé Jwutwlhg:

Quithwpwdhtu 8: Fudwt wnwplw £ hwunhuwunw nuwh dGnppbpnudp.

<pwybpp <pwybpp Uuhwdwuww-
wwhwueubiphu wwhwugubipht | wwufuwuntpjwu
<h Vwutiwhgh wlyjwtinuip hwdwywuwwu- | shwdwwwunwu- hwdwnnun
fuwunn hwjwbp | fuwunn hwjnbp | bjwpwgpnygjniu
1 U/ dwutw Ubkpnujwt X
Uwutwygh
Uwuiwghgsgnh Uwutiwlgh wiywun Clunpywd wnwswnyuis g
qpuinugn g L dwutwlhg (wnwbg UUZ, hwg.
ntintinp
npwd)
1 W/ dwutw Ubkpnujwt X 45,0




Cunpywd  dwutwlyghu

wnwowplwé Jwutwlhg:

npnabipnt

Yhpwnyqwd

swithwuhy'

ujwquagnyu  ght

Quithwpwdhu 9: Yudwt wnwplw £ hwunhuwunw ninnh inppbipnudp.

<pwybpp <pwytiph Uuhwdwuww-
wwhwugubiphu wwhwugubipht | nwufuwuniejwu
<h Vwutiwhgh wlyjwtinuip hwlwwwuwu- | shwdwwywwnwu- hwdumnu:
fuwunn hwjwbp | fuwunn hwjnbp | tjwpwgpnyejniu
1 U/ dwutuw Ubkpnujw X
Uwutuwlygh
Uwutwyhgubiph Cunpdwsd wnwgwnuwg ghu
gpwnbgpwd Uwutwlygh wuyjwunwdp Jwutwlhg (wnwig UUZ, hug.
inbintipp
npwd)
1 U/Q dwutuw UbGpnujwt X 20,8
Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght

wnwowplwé Jwutiwyhg:

Quithwpwdht 10: Sudwt wnwplw £ hwunhuwunw hunywdwywpp denppbpnudp.

<pwybiph <pwybipp Uuhwdwuww-
whwugubphu whwuoubipht | nwufuwunyejwu
< Uwubuwlgh wtijwbnudp Pl:{wdwu{am[ljhu— ;jwdwmimrru— hurJuLIu.mn[lz;J
fuwunn hwjwnbp fjuwtnn hwyinbp | uupwagpnientu
1 UW/Q dwutw Ubkpnujw X
Uwutwlygp
Uwutwlhgutiph Cunpqwd wnwgwnuwg ghu
gqpwnbgpwd Uwutwlygh wuyjwunidp Jwutwlhg (wnwibg UUZ, huwg.
wtinbinp
npwd)
1 UW/a dwutw Ubjpnujwt X 87,5
Cunpwd  dwutwlght  npnobint Yphpwndwd  swihwuhy'  ujuqugnyu  ghu

wnwowpywé Jwutwyhg:

Quithwpwdhu 11: Fudwt wnwplw £ hwunhuwund tnindwwnh dwéniyh dknppbpnudp.

<pwybpp <pwytiph Utuhwdwuww-
wwhwugubiphu wwhwugubipht | nwufuwuniejwu
</h Vwutiwygh wjwiinudp hwdwywuwwu- | shwdwwwunwu- hludumnuf
fuwunn hwjwbp | fuwunn hwjnbp | bfwpwgpnygjniu
1 W/ dwutw Ubkjpnujwt X
Uwutuwlygh
Uwutwyhgubiph Cunpywsd wnwgwnhwg ghu
gpwnbgpwd Uwutwlygh wuyjwunwdp Jwutwlhg (wnwbg UUZ, hug.
wtintinp
npwd)
1 U/Q dwutw Ubkpnujw X 14,2
Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuh)'  ujuqugnyu  ght

wnwowplwé Jwutiwlyhg:

Quithwpwdht 12: Fudwt wnwplw £ hwunhuwund hwyh dubinhph dbnppbipnidp.

<pwybpp <pwybpp Uuhwdwuww-
wwhwueubiphu wwhwugubipht | wwufuwuntpjwu
<h Vwutiwhgh wjwtinudp hwlwwwuwu- | shwdwwywwnwu- hwdwnnwn
fuwunn hwjnbp | juwunn hwjnbp | bwpwgpnieiniu




1 | u/2 dubuw Ukpnuywh | X | |

Uwutwlgh
Uwuiwghgl‘:gﬂh Uwutwygh wudwunwd Cuunpywd wnwswnyws gt
qpungn g o dwutwyhg (wnwug UUL, hwg.
ntintinp
npwd)
1 U/Q dwutw Ubkpnujwt X 129,2

Cunpywd  Jwuuwlght  npnbint Yppwndwd  swipwupy'  uduqugnyu  ght
wnwowplwé Jwutwlhg:

Quithwpwdhu 13: Fudwt wnwplw £ hwunhuwunw phijh dGnppbpnup.

<pwybpp <pwytpp Uuhwdwww-
wwhwueubiphu wwhwugubipht | wnwufuwuntpjwl
<h Vwutiwligh wbduitnuip hwlwwwuwu- | shwdwwywwnwu- hwdwnnwn
fuwunn hwynbp | fuwunn hwjwnbp | bwpwgpnieiniu
1 W/ dwutuw Ukjpnujwt X
Uwutwygh
Uwuzwghgﬁgnh Uwutiwlgh wiywunw Cuunpywd wnwpwnyws g
apuinugn g L dwutiwlhg (wnwbg UUZ, hwg.
wtintinp
npwd)
1 U/ dwutw Ubkpnujut X 12,5

Cunpwsd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght
wnwowplwé Jwutiwyhg:

Quithwpwdhu 14: Fudwu wnwplw £ hwunhuwund YepwYph wnh dtnppbpnidp.

<pwybpp <pwytiph Uuhwdwuww-

wwhwugubiphu wwhweubiphi | wmwufuwuniejwu
</h Vwutiwygh wjwiinudp hwdwywuwwu- | shwdwwwwnwu- hwdwnnun
fuwunn hwjwnbp fjuwunn hwjunbp | uwpwagpnyentu
1 UW/Q dwutw Ubkpnujw X
Uwutwlgh

Uwuiwghgignh Uwutwygh wudwunwd Cuunpywd wnwswnluws gt

qpungn g o dwutwlhg (wnwug UUL, hwgq.
wtintinp
npwd)
1 U/Q dwutw Ubkpnujw X 7,5

Cunpwd  dwutwlght  npnobint Yphpwndwd  swhwuhy'  ujuqugnyu  ghu
wnwowpywé Jwutwlhg:

Qwihwpwdhu  15: QGUdwt  wnwpyw £ hwiunhuwund  dpgquihtu dwénwyubipp
Gbnppbpnudp.

<pwybpp <pwybpp Uuhwdwuww-
wwhwueubiphu wwhwugubipht | wwufuwuntpjwu
<h Vwutiwhgh wlyjwtinuip hwdwywuwwu- | shwdwwwunwu- hwdwnnun
fuwunn hwjunbp fuwunn hwjinbp | uupwagpnientu
1 U/Q dwutw Ubkpnujw X
Uwutwygh
Uwuﬁnghgiinh Uwutiwlgh wiywun Clunpywd wnwswnyus g
qpuinugn g L dwutwyhg (wnwug UUL, hwg.
ntintinp
npwd)
1 W3 dwutw Ubpnujw X 33,0




Cunpywd  dwutwlyghu

wnwowplwé Jwutwlhg:

npnabipnt

Yhpwnyqwd

swithwuhy'

ujwquagnyu  ght

Quithwpwdht 16: Fudwt wnwplw £ hwunhuwunwd dyh dnppbpnidp.

<pwybpp <pwytiph Uuhwdwuww-
wwhwugubiphu wwhwugubipht | nwufuwuniejwu
<h Vwutiwhgh wlyjwtinuip hwlwwwuwu- | shwdwwywwnwu- hwdumnu:
fuwunn hwjwbp | fuwunn hwjnbp | tjwpwgpnyejniu
1 U/ dwutuw Ubkpnujw X
Uwutuwlygh
Uwutwyhgubiph Cunpywsd wnwgwnuwg ghu
gpwnbgpwd Uwutwlygh wuyjwunwdp Jwutwlhg (wnwig UUZ, hug.
inbintipp
npwd)
1 U/Q dwutuw UbGpnujwt X 43,3
Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght

wnwowplwé Jwutiwyhg:

Quithwpwdht 17: Sudwt wnwplyw £ hwunhuwunid Ynudbuinh dknppbipnudp.

<pwybipp <pwybipp Uuhwdwuww-
whwugubphu whwuoubipht | nwufuwunyejwu
< Uwubwlgh wiijwtnudp Pl:{wdwu{am[ljhu— ;jwdwmimrru— hurJuLIu.mn[lz;J
fuwunn hwjwnbp fjuwtnn hwyinbp | uupwagpnientu
1 UW/Q dwutw Ubkpnujw X
Uwutwlygp
Uwutwlhgutiph Cunpqwd wnwgwnuwg ghu
gqpwnbgpwd Uwutwlygh wuyjwunidp Jwutwlhg (wnwibg UUZ, huwg.
wtinbinp
npwd)
1 UW/a dwutw Ubjpnujwt X 40,0
Cunpwd  dwutwlght  npnobint Yphpwndwd  swihwuhy'  ujuqugnyu  ghu

wnwowpywé Jwutwyhg:

Quithwpwdhu 18: Fudwt wnwplw £ hwunhuwunud pjujwdpwpihpubph dbnppbipnidp.

<pwybpp <pwytiph Utuhwdwuww-
wwhwugubiphu wwhwugubipht | nwufuwuniejwu
</h Vwutiwygh wjwiinudp hwdwywuwwu- | shwdwwwunwu- hludumnuf
fuwunn hwywbp | fuwunn hwjnbp | bywpwgpnigjniu
1 W/ dwutw Ubkjpnujwt X
Uwutuwlygh
Uwutwyhgubiph Cunpywsd wnwgwnhwg ghu
gpwnbgpwd Uwutwlygh wuyjwunwdp Jwutwlhg (wnwitg UUZ, hug.
wibintipp
npwd)
1 U/Q dwutw Ubkpnujw X 22,5
Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuh)'  ujuqugnyu  ght

wnwowplwé Jwutiwlyhg:

Quithwpwdhtu 19: Fudwt wnwplw £ hwunhuwund Jwdint dnppbipnidp.

<pwybpp <pwybpp Uuhwdwuww-
wwhwueubiphu wwhwugubipht | wwufuwuntpjwu
<h Vwutiwhgh wjwtinudp hwlwwwuwu- | shwdwwywwnwu- hwdwnnwn
fuwunn hwynbp | fuwunn hwjnbp | bwpwgpnieinu




[ 1 [ W2 dwbw Ubjpnuyut | X | | |

Uwutwlgh
Uwuiwghgl‘:gﬂh Uwutwygh wudwunwd Cuunpywd wnwswnyws gt
qpungn g o dwutwyhg (wnwug UUL, hwg.
ntintinp
npwd)
1 U/Q dwutw Ubkpnujwt X 23,75

Cunpywd  Jwuuwlhght  npngbint Yppwndwd  swipwupy'  uduqugnyu  ghu
wnwowplwé Jwutwlhg:

Qwihwpwdhu 20: Fudwu wnwpyw £ hwunhuwunwd dwéniuh dbnppbpnidp.

<pwybpp <pwytpp Uuhwdwww-
wwhwueubiphu wwhwugubipht | wnwufuwuntpjwl
<h Vwutiwligh wbduitnuip hwlwwwuwu- | shwdwwywwnwu- hwdwnnwn
fuwunn hwynbp | fuwunn hwjnbp | bwpwgpnieinu
1 W/ dwutuw Ukjpnujwt X
Uwutwygh
Uwuzwghgﬁgnh Uwutiwlgh wiywunw Cuunpywd wnwpwnyws g
apuinugn g L dwutiwlhg (wnwbg UUZ, hwg.
wtintinp
npwd)
1 U/ dwutw Ubkpnujut X 68,75

Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght
wnwowplwé Jwutiwlhg:

Quithwpwdhu 21: Fudwt wnwplw £ hwunhuwunid prywubph dGnppbpnudp.

<pwybpp <pwytiph Uuhwdwuww-
wwhwugubiphu wwhweubiphi | wmwufuwuniejwu
</h Vwutiwygh wjwiinudp hwdwywuwwu- | shwdwwwwnwu- hwdwnnun
fuwunn hwjwnbp fjuwunn hwjunbp | uwpwagpnyentu
1 UW/Q dwutw Ubkpnujwi X
Uwutwlgh
Uwuiwghgignh Uwutwygh wudwunwd Cuunpywd wnwswnluws gt
qpungn g o dwutwlhg (wnwug UUL, hwgq.
wtintinp
npwd)
1 U/Q dwutw Ubkpnujw X 36,7

Cunpwd  dwutwlght  npnobint Yphpwndwd  swhwuhy'  ujuqugnyu  ghu
wnwowpywé Jwutwlhg:

Quithwpwdht 22: Sudwu wnwplyw £ hwunhuwunid wplwonnh dbnppbpnudp.

<pwybpp <pwybpp Uuhwdwuww-
wwhwueubiphu wwhwugubipht | wwufuwuntpjwu
<h Vwutiwhgh wlyjwtinuip hwdwywuwwu- | shwdwwwunwu- hwdwnnun
fuwunn hwjwbp | fuwunn hwjnbp | bjwpwgpnygjniu
1 U/ dwutw Ubkpnujwt X
Uwutwygh
Uwuiwghgignh Uwutiwlgh wiywuny Clunpywd wnwswnyuis g
qpuinugn g L dwutwlhg (wnwbg UUZ, hwg.
ntintinp
npwd)
1 W/ dwutw Ubkpnujwt X 69,3




Cunpywd  dwutwlyghu

wnwowplwé Jwutwlhg:

npnabipnt

Yhpwnyqwd

swithwuhy'

ujwquagnyu  ght

Quithwpwdhtu 23: Fudwt wnwplw £ hwunhuwunwd 9bidh dtnppbpnidp.

<pwybpp <pwytiph Uuhwdwuww-
wwhwugubiphu wwhwugubipht | nwufuwuniejwu
<h Vuwutwlgh whduitnudn hwlwwwuwu- | shwdwwywwnwu- hwdumnu:
fuwunn hwjwbp | fuwunn hwjnbp | tjwpwgpnyejniu
1 U/ dwutuw Ubkpnujw X
Uwutuwlygh
Uwutwyhgubiph Cunpywsd wnwgwnl{wg ghu
gpwnbgpwd Uwutwlygh wuyjwunwdp Jwutwlhg (wnwbig UUZ, hug.
inbintipp
npwd)
1 U/Q dwutuw UbGpnujwt X 37,5
Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght

wnwowplwé Jwutiwyhg:

Quithwpwdhtu 24: Fudwu wnwpyw E hwunhuwunud ywuhph dtnppbipnudp.

<pwybiph <pwybipp Uuhwdwuww-
whwugubphu whwuoubipht | nwufuwunyejwu
< Uwubwlgh wiijwtnudp Pl:{wdwu{am[ljhu— ;jwdwmimrru— hurJuLIu.mn[lz;J
fuwunn hwjwnbp fjuwtnn hwyinbp | uupwagpnientu
1 UW/Q dwutw Ubkpnujw X
Uwutwlygp
Uwutwlhgutiph Cunpqwd wnwgwnuwg ghu
gqpwnbgpwd Uwutwlygh wuyjwunidp Jwutwlhg (wnwibg UUZ, huwg.
wtinbinp
npwd)
1 UW/a dwutw Ubjpnujwt X 55,0
Cunpwd  dwutwlght  npnobint Yphpwndwd  swihwuhy'  ujuqugnyu  ghu

wnwowpywé Jwutwyhg:

Qwithwpwdhu 25: Fudwt wnwplw E hwunhuwund gnpfuwdwywph dbnppbpnidp.

<pwybpp <pwytiph Utuhwdwuww-
wwhwugubiphu wwhwugubipht | nwufuwuniejwu
</h Vwutiwygh wjwiinudp hwdwywuwwu- | shwdwwwunwu- hludumnuf
fuwunn hwjwbp | fuwunn hwjnbp | bfwpwgpnygjniu
1 W/ dwutw Ubkjpnujwt X
Uwutuwlygh
Uwutwyhgubiph Cunpywsd wnwgwnhwg ghu
gpwnbgpwd Uwutwlygh wuyjwunwdp Jwutwlhg (wnwitg UUZ, hug.
wibintipp
npwd)
1 U/Q dwutw Ubkpnujw X 13,3
Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght

wnwowplwé Jwutiwlyhg:

Qwihwpwdht 26: Sudwt wnwplyw b hwunhuwunw gnpbiuh wyniph dbnppbipnidp.

<pwybpp <pwybpp Uuhwdwuww-
wwhwueubiphu wwhwugubipht | wwufuwuntpjwu
<h Vwutiwhgh wjwtinudp hwlwwwuwu- | shwdwwywwnwu- hwdwnnwn
fuwunn hwjnbp | juwunn hwjnbp | bwpwgpnieiniu




[ 1 [ W2 dwbw Ubjpnuyut | X | | |

Uwutwlgh
Uwuiwghgl‘:gﬂh Uwutwygh wudwunwd Cuunpywd wnwswnyws gt
qpungn g o dwutwyhg (wnwug UUL, hwg.
ntintinp
npwd)
1 U/Q dwutw Ubkpnujwt X 10,8

Cunpywd  Jwuuwlght  npngbint Yppwndwd  swipwupy'  uduqugnyu  ght
wnwowplwé Jwutwlhg:

Qwihwpwdhu 27: Fudwu wnwpyw £ hwunhuwund mwydwph dup dGnppbpnudp.

<pwybpp <pwytpp Uuhwdwww-
wwhwueubiphu wwhwugubipht | wnwufuwuntpjwl
<h Vwutiwligh wbduitnuip hwlwwwuwu- | shwdwwywwnwu- hwdwnnwn
fuwunn hwynbp | fuwunn hwjwnbp | bwpwgpnieiniu
1 W/ dwutuw Ukjpnujwt X
Uwutwygh
Uwuzwghgﬁgnh Uwutiwlgh wiywunw Cuunpywd wnwpwnyws g
apuinugn g L dwutiwlhg (wnwbg UUZ, hwg.
wtintinp
npwd)
1 U/ dwutw Ubkpnujut X 320,0

Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght
wnwowplwé Jwutiwyhg:

Quithwpwdhu 28: Fudwu wnwplw £ hwunhuwunid hwinhlwynp npnt dGnppbipnidp.

<pwybpp <pwytiph Uuhwdwuww-
wwhwugubiphu wwhweubiphi | wmwufuwuniejwu
</h Vwutiwygh wjwiinudp hwdwywuwwu- | shwdwwwwnwu- hwdwnnun
fuwunn hwjwnbp fjuwunn hwjunbp | uwpwagpnyentu
1 UW/Q dwutw Ubkpnujwi X
Uwutwlgh
Uwuiwghgignh Uwutwygh wudwunwd Cuunpywd wnwswnluws gt
qpungn g o dwutwlhg (wnwug UUL, hwgq.
wtintinp
npwd)
1 U/Q dwutw Ubkpnujw X 18,3

Cunpwd  dwutwlght  npnobint Yphpwndwd  swhwuhy'  ujuqugnyu  ghu
wnwowpywé Jwutwlhg:

Quithwpwdhtu 29: Fudwt wnwplw £ hwunhuwund Yuuws (npne dknppbipnidp.

<pwybpp <pwybpp Uuhwdwuww-
wwhwueubiphu wwhwugubipht | wwufuwuntpjwu
<h Vwutiwhgh wlyjwtinuip hwdwywuwwu- | shwdwwwunwu- hwdwnnun
fuwunn hwjwbp | fuwunn hwjnbp | bjwpwgpnygjniu
1 U/ dwutw Ubkpnujwt X
Uwutwygh
Uwuiwghgignh Uwutiwlgh wuywuntd Clunpywd wnwswnyuis g
qpuinugn g L dwutwlhg (wnwbg UUZ, hwg.
ntintinp
npwd)
1 W/ dwutw Ubkpnujwt X 15,0




Cunpwsd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght
wnwowplwé Jwutwlhg:

Quithwpwdhtu 30: Fudwt wnwplw § hwunhuwunud pnyyhubiph dGnppbpnidp.

<pwybpp <pwytiph Uuhwdwuww-
wwhwugubiphu wwhwleubiphi | wmwufuwuniejwu

hwlwwwuwu- | shwdwwywwnwu- hwdwnnwn
fuwunn hwjwnbn fuwunn hwjwnbp | uuwpwgpnientu
Uwhdwuywd
dwdltitnid sh
ubip{uywgnti
npwlwynpdwu
swithwuputipp
hhduwynpnn'
: <<UUuL hpwybinh 2-pn dwuh
X hwjin wwwnpwuwnbint
G1PU3MrLEN>>UMNLC hpwhutigh 3-nn
pwduny, huswtiu
uwl hpwybph 1-hu
dwup 4.3 Ytitnh
<<n>> Gupwytinny
Uwfuwwnbudwd
wuwnwpnptinp

</h Uwutwlygh wuyjwunidp

Wa Wpbkpw Skp-
Qujunju

Uwutwygh
Uwutwyhgutiph Cutnpqwd wnwownywsd ght
qpwnbgnpwd Uwutwlygh wudjwunwdp Jwubwlhg (wnwug UUZ, hug.
ibintipp quu)’
1 u/a Ujpbkpunn Skp- X 50,0
Quiunjw
Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuh)'  ajuqugnyu  ght
wnwowplwé Jwutwlhg:

Quithwpwdhu 31: Fudwt wnwplw £ hwunhuwunud udpniyh Enppbpnudp.

<pwybpp <pwytiph Utuhwdwuww-
wwhwugubiphu wwhwleubiphi | wmwufuwuniejwu
</h Vwutiwygh wjwiinudp hwdwywuwwu- | shwdwwwwnwu- hwdwnnun
fuwunn hwjunbp fjuwunn hwjinbp | uupwagpnientu
1 U/ dwutw Ubkpnujwi X
Uwutwygh
Uwu:.lwll]{hg:gnh Uwutwygh wudwunwd Cuunpywd wnwswnluws gt
qpungn g o dwutwlhg (wnwug UUL, hwg.
wtintinp
npwd)
1 U/Q dwutw Ubkpnujw X 6,25

Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght
wnwowpywé Jwutwlhg:

Quithwpwdhu 32: Fudwt wnwplw £ hwunhuwunwd unfuh dGnppbpnudp.

<pwybpp <pwybpp Uuhwdwuw-
wwhwugubiphu wwhwueubiphi | wwufuwuniejwu
</h Vuwutiwygh wljwiinudp hwdwywuwwu- | shwdwwwunwu- hwdwnnwn

fuwunn hwywnbp | juwunn hwjwnbp | twpwgpnieiniu

1 U/ dwutw Ubkpnujw X




Uwutwlgh
Uwuzwghgilgnh Uwutwlygh wujwunid Cuunpuwd wnwouinbws ght
qpuinugn g L dwutiwlyhg (wnwug UUL, hwq.
wnbintpp
npwd)
1 W/ dwuuw Ubpnujw X 6,25

Cunpwd  Jwutwlght  npnobint - Yppwndwd  swhwuhy'  ujuqugnyu  ght
wnwowplwé Jwutiwyhg:

Qwithwpwdhu 33: Fudwu wnwpyw £ hwunhuwunwd Yueh dbnppbpnudp.

<pwybpp <pwytpp Uuhwdwww-
wwhwueubiphu wwhwugubipht | wnwufuwuntpjwl
<h Vwutiwligh wbduitnuip hwlwwwuwu- | shwdwwywwnwu- hwdwnnwun
fuwunn hwjunbp fuwunn hwjinbp | uuwpwgpnientu
1 UW/Q dwutw Ubkpnujw X
Uwutwygh
Uwuzwghgﬁgnh Uwutiwlgh wiywunw Cuunpywd wnwpwnyws g
qpuintgn g L dwutiwlhg (wnwbg UUZ, hwg.
wtinbinp
npwd)
1 U/ dwutw Ubkpnujwt X 66,7

Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght
wnwowpywé Jwutwyhg:

Quithwpwdhtu 34: Fudwt wnwplyw £ hwunhuwund Yunwdph dtnppbpnudp.

<pwybiph <pwybipp Uuhwdwuww-
wwhwueubiphu wwhwugubipht | wnwufuwuntpjwu
</h Uwubwlgh wiijwtnudp hwdwywuwwu- | shwdwwwunwu- hwdwnnun
fuwunn hwjunbp fjuwunn hwjinbp | uupwagpnientu
1 U/ dwutw Ubkpnujwi X
Uwutwygh
Uwuﬁnghgigph Uwutiwlgh wiywunw Cuunpywd wnwpwnyuis gt
apuinugn g L Swutiwlhg (wnwbg UUZ, hwg.
wtinbinp
npwd)
1 U/Q dwutw Ubkpnujw X 18,75

Cunpwd  dwutwlght  npnobint Yphpwndwd  swihwuhy'  ujuqugnyu  ghu
wnwowpywé Jwutwyhg:

Quithwpwdhu 35: Fudwu wnwplyw £ hwunhuwund ququpp denppbpnudp.

<pwybpp <pwybpp Uuhwdwuww-

wwhwugubiphu wwhwueubiphi | wwufuwuniejwu
</h Vuwutiwygh wljwiinudp hwdwywuwwu- | shwdwwwunwu- hwdwnnun
fuwunn hwjunbp fuwunn hwjinbp | uupwagpnientu
1 U/Q dwutw Ubkpnujw X
Uwutwygh

Uwuiwghgﬁgnh Uwutiwlgh wiywun Clunpywd wnwswnyuis g

qpuinugn g L dwutwlhg (wnwbg UUZ, hwg.
wtinbinp
npwd)
1 W/ dwuuw ULjpnujwu X 7,5

Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght
wnwowpywé Jwutwlhg:




Qwihwpwdhu 36: Fudwu wnwplw § hwunhuwund dwluntnh dGnppbpnudp.

<pwybpp <pwytpp Uuhwdwww-

wwhwueubiphu wwhwueubiphi | wwufuwuniejwu
<h Vwutiuiligh wbduitnudp hwlwwwuwu- | shwdwwywwnwu- hwdumnuf
fuwunn hwjwbp | fuwunn hwjnbp | bjwpwgpnyejniu
1 U/ dwutuw Ubkpnujw X
Uwutuwlygh

Uwutwyhgubiph Cunpywsd wmugwnuwfgs ghu

gpwnbgpwd Uwutwlygh wuyjwunidp Jwutwlhg (wnwiig UUZ, hwg.
wtinbinp
npwd)
1 W/ dwuuw Ubpnujw X 7,5

Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght

wnwowplwé Jwutiwyhg:

Qwithwpwdhtu 37: Fudwu wnwplw E hwunhuwund |njhyh dknppbipnuwdp.

<pwybiph <pwybipp Uuhwdwuww-
wwhwueubiphu wwhwueubipht | wwufuwunipjwu
<h Vwutiwhgh wlywtinuip hwdwwywuwwu- | shwdwwwunwu- hwdumnuf
fuwunn hwywbp | fuwunn hwjnbp | bjwpwgpniejniu
1 W/ dwutw Ubkjpnujwt X
Uwutuwygh
Uwutwyhgubiph Cunpqwd wnwgwnuwg ghu
qpwnbgnpwd Uwutwlygh wudjwunwdp Jwutwlhg (wnwibig UUZ, huwg.
wtinbinp
npwd)
1 W/ dwutw Ubkpnujwt X 20,0
Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght

wnwowplwé Jwutwlhg:

Quithwpwdhtu 38: Fudwu wnwplw § hwunhuwunu Jupniugh dknpptipnudp.

<pwybipp <pwybipp Uuhwdwuww-
wwhwueubiphu wwhwueubipht | wwufuwunipjwu
<h Vwutiwhgh wlyjwtinudp hwdwywuwwu- | shwdwwwunwu- hludumnuf
fuwunn hwjwbp | fuwunn hwjnbp | bjwpwgpnygjniu
1 U/ dwutw Ubkpnujw X
Uwutwlgh
Uwutiwlhgubiph Cunpqwd wnwgwnqwg ghu
gpwnbgpwd Uwutwlygh wuyjwunidp Jwutwlhg (wnwbg UUZ, huwg.
wtinbinp
npwd)
1 W/ dwutw Ubkpnujwt X 16,7
Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght

wnwowplwé Jwutiwlyhg:

Quithwpwdhtu 39: Fudwtu wnwplw £ hwunhuwund nndhyh dbnppbipnidp.

<pwybpp <pwybpp Uuhwdwuww-
wwhwueubiphu wwhwugubipht | wwufuwuntpjwu
<h Vwutiwhgh wlyjwtinuip hwdwywuwwu- | shwdwwwunwu- hwdwnnun
fuwunn hwjunbp fuwunn hwjinbp | uupwagpniyentu
1 W/ dwutuw Uk)pnujwu X
| Uwutwlphgubph | Uwutwlgh wujwunup | Cunpywd | Uwutwlgh




gpwnbgpwd dwutwyhg wnwownlwd ghu
wnbintpp (wnwug UUL, hwg.
npwd)
1 W/ dwuuw Ubpnujw X 13,3

Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght
wnwowplwé Jwutwyhg:

Qwihwpwdhu 40: Yudwu wnwpyw £ hwunhuwunwd twpnbinh dGnppbipnudp.
<pwybpp <pwytpp Uuhwdwww-
wwhwueubiphu wwhwueubiphi | wwufuwuniejwu
<h Vwutiwligh wbduitnuip hwlwwwuwu- | shwdwwywwnwu- hwdumnuf
fuwunn hwjwbp | fuwunn hwjnbp | bjwpwgpnyejniu
1 U/ dwutuw Ubkpnujw X
Uwutuwygh
Uwutwyhgubiph Cunpqwd wnwgwnuwg ghu
qpwnbgnpwd Uwutwlygh wudjwunwdp Jwutwlhg (wnwibig UUZ, huwg.
wtintinp
npwd)
1 U/ dwutw Ubkpnujwt X 10,0

Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght
wnwowplwé Jwutiwyhg:

Quithwpwdhtu 41: Fudwu wnwplyw £ hwunhuwund fuwnp Yuwuwsnt dtinppbipnidp.

<pwybiph <pwybipp Uuhwdwuww-

wwhwueubiphu wwhwugubipht | wnwufuwuntpjwu
<h Vwutiwhgh wlywtinuip hwdwwywuwwu- | shwdwwwunwu- hwdwnnwn
fuwunn hwjwbp | fuwunn hwjnbp | bjwpwgpnyejniu
1 U/ dwutw Ubkpnujw X
Uwutwygh

Uwuﬁnghgzgnh Uwutiwlgh wiywun Cuunpywd wnwpwnyuis gt

apuinugn g L Swutiwlhg (wnwbg UUZ, hwg.
wtintinp
npwd)
1 W/ dwutw Ubkpnujwt X 6,7

Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuh)'  ajuqugnyu  ght
wnwowplwé Jwutwlhg:

Qwithwpwdht 42: Gudwt wnwpyw £ hwunhuwund Julwnih thnont dbnppbipnidp.

<pwybpp <pwybpp Uuhwdwuww-
wwhwueubiphu wwhwugubipht | wwufuwuntpjwu
<h Vwutiwhgh wlyjwtinuip hwdwywuwwu- | shwdwwwunwu- hwdwnnun
fuwunn hwjunbp fjuwunn hwjinbp | uupwagpniyentu
1 U/Q dwutw Ubkpnujw X
Uwutwygh
Uwuiwghgﬁgnh Uwutiwlgh wiywun Clunpywd wnwswnyuis g
qpuinugn g L dwutwlhg (wnwtg UUZ, hwg.
wtinbinp
npwd)
1 W/ dwutw Ubkpnujwt X 8,75

Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuh)'  ujuqugnyu  ght
wnwowpywé Jwutwlhg:

Quithwpwdhtu 43: Fudwt wnwplyw £ hwunhuwund Juuhhuh dGnppbpnidp.




<pwybpp <pwytipph Uuhwdwuww-

wwhwueubiphu wwhwgubipht | wnwufuwuntpjwl
<h Vwutiwligh wbduitnuip hwlwwwuwu- | shwdwwywwnwu- hwdwnnwn
fuwunn hwjwbp | fuwunn hwjnbp | bjwpwgpnyejniu
1 U/ dwutuw Ubkpnujw X
Uwutwlgh

Uwuiwghgl‘:gﬂh Uwutwygh wudwunwd Cuunpywd wnwswnyws gt

qpungn g o dwutwyhg (wnwug UUL, hwg.
inbintipp
npwd)
1 W/ dwuuw Ubpnujw X 5,0

Cunpjwd  dwutiwyght
wnwowplwé Jwutiwyhg:

npnobint Yppwndwsd  swihwuhy'

ujwquqnyu  qhu

Qwihwpwdhu 44: Fudwt wnwplw § hwunhuwund unnwih dtnppbipnudp.

<pwybiph <pwybipp Uuhwdwuww-

wwhwueubiphu wwhwugubipht | wnwufuwuntejwu
<h Vwutiwhgh wlywtinuip hwdwwywuwwu- | shwdwwwunwu- hwdwnnwn
fuwunn hwjwbp | fuwunn hwjnbp | bywpwgpnyejniu
1 W/ dwutw Ubkjpnujwt X
Uwutwlgh

Uwuiwghgignh Uwutwygh wudwund Cunpywd wnwswnyuis gt

qpungn g o dwutwlhg (wnwlg UUZ, hwg.
wtintinp
npwd)
1 U/ dwutw Ubkpnujwt X 2,3

Cunpjwd  dwutwyghu
wnwowplwé Jwutwlhg:

npnobint - Yphpwndwd  swihwuhy'

ujwquqgnyu qhu

Quithwpwdht 45: Sudwt wnwplyw £ hwunhuwunid fudnphsh dtinppbipnudp.

<pwybipp <pwybipp Uuhwdwuww-

wwhwueubiphu wwhwugubipht | wnwufuwuniejwu
<h Vwutiwhgh wlywtinuip hwdwywuwwu- | shwdwwwunwu- hwdwnnun
fuwunn hwjwbp | fuwunn hwjnbp | bfwpwgpnygjniu
1 W/ dwutw Ubkjpnujwt X
Uwutwlgh

Uwuiwghgignh Uwutiwlgh wiywun Clunpywd wnwswnyus gt

qpuinugn g L dwutwlhg (wnwtg UUZ, hwg.
ntintinp
npwd)
1 W/ dwutw Ubkpnujwt X 1,7

Cunpjwd  dwutwyght

npnatiint

wnwowplwé Jwutiwlyhg:

Yhpwndws  swihwthy

ujwquagnyu  ghtu

Quithwpwdhtu 46: Sudwu wnwpyw £ hwunhuwund nwudh dtnppbpnudp.

<pwybpp <pwybpp Uuhwdwuww-
wwhwueubiphu wwhwugubipht | wnwufuwuntpjwu
<h Vwutiwhgh wlyjwtinuip hwdwywuwwu- | shwdwwwunwu- hwdwnnun
fuwunn hwjwbp | fuwunn hwjnbp | bjwpwgpnygjniu
1 U/ dwutw Ubkpnujw X
Uwutuwyhgubiph Cunpywsd Uwutwygh
gpwnbgpwd Vwutiwgh wjwbnudp dwutwlhg wnwownlwd ghu




wnbinbpp (wnwug UUL, hwgq.
npwd)
1 W/ dwuuw Ubpnujw X 11,25
Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght

wnwowplwé Jwutiwyhg:

Qwihwpwdhu 47: Fudwu wnwpluw £ hwunhuwund fuudnph denppbipnudp.

<pwybpp <pwytpp Uuhwdwww-
wwhwueubiphu wwhwueubiphi | wwufuwuniejwu
<h Vwutiwligh wbduitnuip hwlwwwuwu- | shwdwwywwnwu- hwdumnuf
fuwunn hwjwbp | fuwunn hwjnbp | bjwpwgpnyejniu
1 U/ dwutuw Ubkpnujw X
Uwutuwlygh
Uwutwyhgubiph Cunpywsd wnwgwnuwg ghu
gpwnbgpwd Uwutwlygh wujwunwdp Jwutwlhg (wnwiig UUZ, huwg.
wtinbinp
npwd)
1 U/ dwutw Ubkpnujwt X 10,0
Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght

wnwowplwé Jwutiwyhg:

Quithwpwdhtu 48: Sudwu wnwpyw § hwunhuwund uwnph dtinppbpnudp.
<pwybiph <pwybipp Uuhwdwuww-
whwugubphu whwugubipht | nwufuwunyejwu
<h Vwutiwhgh wlywtinuip il:{wdwu{amﬂjhu— ;:wdwm%umrru— hlLuLjann[l;l
fuwunn hwjwbp | fuwunn hwjnbp | bywpwgpnyejniu
1 W/ dwutw Ubkjpnujwt X
Uwutuw
Uwutwyhgubiph Cunpqwd wnwgwnulﬂgr:}hb
qpwnbgpwd Uwutwlygh wuyjwunidp Jwutwlhg (wnwibg UUZ, huwg.
wtinbinp
npwd)
1 W/ dwutw Ubkpnujwt X 6,25
Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuh)'  ajuqugnyu  ght

wnwowplwé Jwutwlhg:

Qwithwpwdhtu 49: Sudwu wnwpyw £ hwunhuwunw shpwuh dtinpplipnudp.

<pwybipp <pwybipp Uuhwdwuww-

wwhwueubiphu wwhwueubiph | wwufuwuniejwu
<h Vwutiwhgh wlyjwtinuip hwdwywuwwu- | shwdwwwunwu- hwdumnu:
fuwunn hwjwbp | fuwunn hwjnbp | bjwpwgpnygjniu
1 U/ dwutw Ubkpnujwt X
Uwutwlgp

Uwutwlyhgubiph Cunpqwd wnwgwnqwg ghu

gpwnbgpwd Uwutwlygh wuyjwunwdp Jwutwlhg (wnwitg UUZ, hug.
wbintpp
npwd)
1 W/ dwutw Ubkpnujwt X 12,5

Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuh)'  ujuqugnyu  ght

wnwowplwé Jwutiwlyhg:

Quithwpwdhu 50: Fudwt wnwplw £ hwunhuwunw nbindh dbnppbipnudp.

| <h |

Uwutiwlygh wudwunidp |

<pwytiph

<pwybipp

| Uuhwdwuww-




wwhwueubiphu wwhwugubipht | wnwufuwuntpjwu
hwlwwwuwu- | shwdwwywwnwu- hwdwnnwn
fuwunn hwjwbp | fuwunn hwjnbp | bjwpwgpnyejniu
1 U/ dwutuw Ubkpnujw X
Uwutuwlygh
Uwutwyhgubiph Cunpywsd wmugwnuwfgs ghu
gpwnbgpwd Uwutwlygh wuyjwunidp Jwutwlhg (wnwig UUZ, hug.
inbintipp
npwd)
1 U/ dwutuw UbGjpnujwt X 7,5
Cunpwd  Jwutwlght  npnobint Yppwndwd  swihwuhy'  ujuqugnyu  ght

wnwowplwé Jwutiwyhg:

Quithwpwdhu 51: Fudwt wnwpyw § hwunhuwund dwunwphuh dGnppbpnudp.

<pwybpp <pwytiph Utuhwdwuww-

wwhwueubiphu wwhwueubiphi | wwufuwuniejwu
<h Vwutiwhgh wlywtinuip hwdwwywuwwu- | shwdwwwunwu- huJLIuannJ
fuwunn hwjwbp | fuwunn hwjnbp | bywpwgpnyejniu
1 W/ dwutw Ubkjpnujwt X
Uwutuwlygh

Uwutwyhgubiph Cunpywsd wnwgwnuwg ghu

gpwnbgpwd Uwutwlygh wudjwunwdp Jwutwlhg (wnwg UUZ, hug.
inbintipp
npwd)
1 U/ dwutw Ubkpnujwt X 8,4

Cunpwd  Jwutwlght  npnobint Yppwndwd  swhwuhy'  ujuqugnyu  ght

wnwowplwé Jwutwlhg:

Quithwpwdhtu 52: Fudwt wnwplw £ hwunhuwund dowlwd swdhsh dtinpptpnudp.

<pwybipp <pwybipp Uuhwdwuww-
wwhwueubiphu wwhwueubipht | wwufuwunipjwu
<h Vwutiwhgh wlywtinuip hwdwywuwwu- | shwdwwwunwu- hludumnuf
fuwunn hwjwbp | fuwunn hwjnbp | bfwpwgpnygjniu
1 U/ dwutw Ubkpnujw X
Uwutuwygh
Uwutwyhgubiph Cunpywd wnwgwnuwg ghu
gpwnbgpwd Uwutwlygh wuywunwdp Jwutwlhg (wnwibg UUZ, huwg.
wtinbinp
npwd)
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